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Because helicopters' can go almost anywhere, they have been especially useful to
explorers. In the jungles of South America they have helped explorers looking for new
places to sink oil wells> First of all the helicopters lift the geologists’ and mineralo-
gists* into the heart of jungle, trying first one area and then another, and when they
find a place that seems likely to yield oil, the helicopters can bring in drilling equip-
ment. They can bring in huts in pieces, and very nearly everything that may be need-
ed. If a telephone is needed from the jungle outpost® back to the main base, then the
wires themselves can be laid across the jungle treetops. All the helicopter has to do is
to fly close over the trees umnreeling® the cable from a big drum as it goes.

It is very comforting for explorers in such places to know that if they are in-
jured or fall ill, they can be flown back to hospital in a few hours. Only twenty
years ago a sick man prospecting’ in the heart of the jungle might have faced a
journey of several weeks, traveling part of the way on a. bumping siretcher carried
by natives, and part of the way in a slow—moving canoe. '

Big helicopters can lift loads up to about ten tons. As they can go everywhere
and can hover over any chosen spot, these helicopters make excellent flying cranes.
Before the days of helicopters, the task of building a radio station on top of a high
mountain might have meant building a road or a cable railway first. But a helicopter
can carry all the building materials and the workmen up into position quite easily.

Putting a new top on a high structure like a lighthouse used to mean that a
scaffolding® even higher than the lighthouse had to be built first of all. Now a heli-
copter can be used to fly over and lower the part gently into position. A helicopter
has been used to lower a new cross on to the spire’ of a church in the same way.

Helicopters have saved thousands of people from the sea and they have saved
people from mountaintops. They are already doing all kinds of useful things but
their story has hardly begun. (379ws) ‘

1. The helicopter now can help us do many things; which of the following is not
mentioned by the author? '
A. It can help people build new bridges.
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B. It can save people from mountaintops.
C. It can lower a new cross onto the spire of a church.
D. It can put a new top on a high building.
2. What does “they” (Para. 1, Line 4) refer to?
A. Helicopters. B. Explorers. C. Jungles. D. Oil wells.
3. The word “make” in which of the following sentences is close in meaning to
“make” in Para. 3. Line 27
A. Milk bottle tops are made of tin foil.
B. Cruelty and injustice often make our blood beil.
C. The train makes 10 miles an hour.
D. If you work hard, you will make a good sailor.
4. What does the word “prospect” (Para. 2, Line 2) mean?
A. Persist. B. Expect. C. Explore. D. Perceive.
5. What does the author mean by saying that “..but their storv has hardly begun™
(Para. 5, Line 2)
A. They are helping us in all fields.
B. They will be replaced soon.
C. They will do more useful things in the future.
D

. They will be upgraded to help us better.

o~

6. What can we infer from the second paragraph?

A. Nowadays, it is more comfortable for explorers to live in the heart of a jungle.
B. Nowadays, with the help of helicopters, a sick explorer will be treated quickly.
C. Nowadays, helicopters can lift loads to explorers in a jungle.
D. Nowadays, helicopters can help explorers build huts in a jungle.

7. Which of the following may serve as the best title for this passage?

A. Helicopter: A Flying Crane B. Helicopter: Rescuing People
C. Helicopter: A Helper to Explorers D. Helicopter: An Efficient Helper
(=) s
1. helicopter n. HF ()L 2. well n. 3+
3. geologist n. HUJfi¥ K 4. mineralogist n. B Y% &
"5. outpost m. HIMY, HIXKAHE 6. unreel vt f&IT
7. prospect vi. F-%, hHE 8. scaffolding n. T2

9. spire n. RTH
(D) EXRRN
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Insurance companies provide a service to the community by protecting it a-
gainst expected and unexpected disasters. Before an insurance company will agree
to insure anything, it collects accurate figures about the risk. It knows, for example,
that the risk of a man being killed in a plane accident is less than the risk he
takes in crossing a busy road. This enables it to quote’ low figures for travel insur-
ance. Sometimes the risk may be high, as in motor-racing or mountaineering. Then
the company charges a much higher price. If too many climbers have accidents, the
price rises till further. If the majority of climbers fall off mountains, the company
will refuse to insure them.

An ordinary householder may wish to protect his home against fire or his prop-
erty against burglary’. A Shopkeeper may wish to insure against theft’. In normal cas-
es, the company will check its statistics and quote a premium®, If it is suspicious, it
may refuse to quote. If it insures a shop and then receives a suspicious claim, it will
investigate the claim as a means of protecting itself against false claims. It is not un-
known for a businessman in debt to burn down his own premises so that he can
claim much money from his insurance company. He can be sure that the fire will be
investigated most carefully. Insurance companies also accept insurance against ship-
wreck or disaster in the air. Planes and ships are very expensive, so a large premi-
um is charged, but a reduction is given to companies with an accident-free record.

Every week, insurance companies receive premium payments from customers.
These payments can form a very large total running inte millions of dollars. The
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company does not leave the money in the bank. It invests in property, shares,

farms and even antique paintings and stamps. Its aim is to obtain the best possible
return on iis investment. This is not as greedy as it may seem, since this is one
way by which it can keep its premiums down and continue to make a profit while
being of service to the community. (350ws)
1. The main idea of the first paragraph is that .
A. insurance companies protect the community against disasters
B. insurance companies often collect accurate figures about the risk
C. insurance companies base their decisions on the msk involved
D. insurance companies charge different prices in different cases
2. The insurance company usually will investigate a suspicious claim to
A. refuse to quote the insurance fee
B. make sure that the claim is justifiable
C. decide how much the company should pay
D. find out how the accident happened as a routine
3. The word “premise” in Paragraph 2 most probably means
A. land and buildings B. insurance policy
C. debt receipt D. financial charges
4. The author’s attitude towards customers’ premium payments being used by in-
surance companies is .
A. critical B. doubtful C. neutral D. positive
5. The purpose of this passage is to .
A. explain how insurance companies operate
B. encourage people to invest in insurance companies
C. persuade people to insure against unexpected disasters
D

. advise people how to insure their life and property

Ca-m= o8
= S/A. -

6. Why do insurance companies charge a large premium for disasters in the air?
A. Because it is more dangerous to travel by air.
B. Because there are more people killed in air crashes.
C. Because airplanes themselves are very expensive.
D. Because traveling by air is much more expensive.
7. What do insurance companies do with customers’ premium payments?
A. They deposit the money in the bank.
B. They buy antique painting and stamps for customers.

C. They make investments so as to provide better services.

D. They share the money with the community.
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1. quote v. R (#1), 51 M, FliE, &4, #ih
2. burglary n. B8, AREY

3. theft n. fi1, 1797, MGTEH, MGITH
4, premium n. R R, B RH, X8, B
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2. BB ErHEEE, R XESE B I it is suspicious, it may refuse to quote. If it
insures a shop and then receives a suspicious claim, it will investigate the claim
as a means of protecting itself against false claims. PIHEBTLEMRR T RIER
BEESEA, ATR A FIRIEE, HEER B,
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6. [ClESLHE, WIEXES B Planes and ships are very expensive, so a large
premium is charged AJAIEE CHFAEE. '

7. [CIEELHYE, RELEH =K This is not as greedy as it may seem, since
this is one way by which it can keep its premiums down and continue to make
a profit while being of service to the community. AIHEE CHAHEE.
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U.S. college students are increasingly burdened with credit card debt, according
to a study released Tuesday, and the consequences can be serious—ranging from
higher drop—out rates, to future employment problems and even suicide. The study,
by Georgetown University sociologist' Robert Manning, blamed credit card issuers for
actively targeting students and colleges for allowing them to do so, sometimes in
return for a cut of the profits. “The unrestricted marketing of credit cards on
college campuses is so aggressive that it now poses a greater threat than alcohol or
sexually transmitted diseases,” Manning told a news conference in Washington. “If
we don not swiftly address’ this pemicious’ problem, the coats will continue to
escalate®, with social consequences far more tragic than mere dollars and cents.”

Based on hundreds of face —to —face interviews and surveys with students,
Manning concluded -both the number with credit card debt and their indebtedness’

iz 20585 Geug= S
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had been “systematically underreported” in previous studies—which failed to reflect
the “survival strategies” many used to cope with their debts. These included the
use of federal student loans to pay off credit cards, effectively shifting the debt,
appeals to parents for loans, cutting back on course work to increase time at paid
jobs, or even dropping out altogether to work full time.

“Official drop-out rates include growing numbers of students who are unable to
cope with the stress of their debts and/or part time jobs for servicing their credit
eards,” the study said.  “Student credit card debts are increasingly scrutinized®
during the recruitment process and may be an important factor in evaluating
prospective’ employees,” it noted. 0’Donnell and Manning agreed students should
bear some responsibility for reckless use of credit, but said credit card companies
also had to be held accountable® for making it so easy for them to get into debt
over their heads. Manning said one of the most disturbing aspects of the student
credit card issue was “the seduction® of college and university administrators by the
credit card industry.” (331ws)

1. Socialist Robert Manning's study shows that
A. the number of American college students using credit cards on campus is
increasing
B. more and more American college students with credit cards overdraw their accounts
C. more and more American colleges encourage students to use credit cards to
make profits
D. credit card issuers will run into debt for encouraging college students to use
credit cards
2. What does Manning think of previous studies of the student credit card issue?
A. They didn’t employ effective means to get useful first-hand data.
B. They failed to reveal the real dimensions of the problem.
C. They failed to put forward any solutions to this problem.
D. They didn’t go to depth to find the root cause of the problem.
3. The author’s feeling towards those college students with credit card debts is
A. discouraged and pessimistic B. sympathetic and critical
C. indifferent and disapproving D. negative and doubtul
4, The author implies all of the following should be accountable for this problem
EXCEPT
A. credit card issuers B. college authorities
C. parents of the students D. students themselves
5. The word “reckless” in Paragraph 3 can be best replace by v
A. inconsiderate B. frequent C. crude D. regular
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lowig s NOT true of the credit card problem? )
A. Students with credit card debts must find part-time jobs to service their debts.
B. The social consequences of credit card debts can be tragie.
C. Those students with credit card debts are likely to have other problems  too.
D. Employers care more and more about credit card debts of potential employees.
. Which may serve as the best title for this passage?
A. Misuse of Credit Cards by College Students
B. Credit Cards Go Too Far
C. Credit Cards Are Against College Students
D. Students Troubled by Credit Card Debts ]
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. sociologist n. #FEF M E¥E 2. address v. XA, 4hEE
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An Israeli inventor has developed a revolutionary system of robot controlled
farming, which he believes could change the fame of modemn agriculture.
The system, called Grow-Tech2000, grows vegetables and other crops inside
standard metal shipping containers' using hydroponics?, in which water replaces soil
as the bed for the roots of the plant. Each unit operates under a robotic system,
which controls everything from planting the seeds to watering the crop, and to
harvesting the roped foodstuff’.
Because the containers are sealed and controlled, there is no need for
pesticides® or any potentially harmful chemicals. The food crops are sterile® and can
be completely organic. Inside each unit, the atmosphere, humidity, light, heat and
water are carefully controlled by the robots, which move the crops around on a
large frame, where they can be fertilized, transplanted and harvested more
efficiently. All that is needed is a power source.
The demand for food in industrialized countries is growing and the area for
growing it is decreasing, while labor costs are rising. So, these machines will be
sold in places where there are difficult weather conditions, high labor costs and
rising demand for food. v
In future, the same technology could be applied to develop machines to help
other agricultural problems in areas such as Africa where food supplies are scarce.
Shipping containers are cheap, which can be moved around easily and can be piled
on top of each other to create a farm yielding® very high amounts using only a
limited area and very little labor.
Because the system is sealed’” and needs no chemicals, it is environmentally
friendly. It uses a minimum supply of water and produces oxygen instead of toxic®
gases, which are the by—product of pesticides.
The invention will provide a way of meeting the rapidly growing demand for
organic products at a time when traditional agriculture is declining swiftly. (308ws)
1. Which is the most ecritical factor for the new farming system?
A. Atmosphere, light, and water. B. Computerized robot.
C. A power source. D. Fertilizer.

2. Why is the new invention expected to apply in Africa?
A. There is a serious shortage of food.
B. There is not enough labor for planting,
C. There is a cheap transportation.
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D. There is limited area for planting.
3. Which is NOT the advantage of Grow~Tech 20007
A. Good adaptation to bad weather condition.
B. Lower labor cost.
€. High yield on a limited area.
D. Stimulus of crops’ growing speed.
4. Why is this new technology environment friendly?

A. It needs no fertilizer. B. It saves labor cost.
C. It causes less pollution. D. It uses less water.

5. What's the author’s attitude towards the application of this new invention?
A. Pessimistic. .  B. Optimistic.  C. Neutral. D. Indifferent.
= (@

C ¥R= )

6. Which is the best title of this passége?
A. A Revolutionary Invention—Grow-Tech 2000
B. An Important Way to Meet Starvation Problem
C. Swift Declining of Traditional Agriculture
D. Robot—controlled Farming in the Future
7. What's the main idea of the passage?
A. The new invention can compensate the shortcoming of traditional agriculture.
B. The new invention can satisfy the growing demands of modem food problems.
€. The new invention can help to solve the agricultural problems in Africa.
D. The new invention can greatly improve the yield of crop.

(=) WiCH#

1. container n. &8 ;EEH 2. hydroponics n. KR
3. foodstuff n. &, BHER 4, pesticide n. FHF, R
5. sterile a. TLEEHY 6. yield v. £ =

7. seal v. (%) 8. toxic a&. HHEM
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Between 1815 and 1914, the world witnessed the greatest peaceful migration in
its history: 35 million people, mostly Europeans, left their homelands to start new
lives in America. Why did these people risk everything by leaving their homes and
families to see what the New World had to offer? There are both push and pull
factors which we should consider.

First, what forced emigrants’ to make the decision to leave? One major cause
of the exodus’ among European peasants was the rise in population, which in tum
led to land hunger. Another was politics. Nationalism saw increased taxation and
the growth of armies, and many young men fled Europe to avoid being conscripted’.
Also, the failure of the liberal revolutions in Europe caused the departure of
hundreds of thousands of refugees.

Physical hunger provided another pressing reason. Between 1845 and 1848, the
terrible potato famine in Ireland ended in the deaths of one million Irish people
and emigration of a further million who wished to escape starvation. Religion also
encouraged million to leave the Old World.

In short, people chose to leave their homes for social, economic and religious
reasons. As a result, by 1890 among a total population of 63 million, there were
more than mine million foreign—bom Americans.

But what were the attractions? First of all, there was the promise of land
which was so scarce in Europe. Next, factories were calling out for labor, and pay
and conditions were much better than back home. Men were needed to open up
the West and build the long-railroads, and settlers were needed to populate’ new
towns and develop commerce. There was the space for religious communities to
practice their faith in peace and comparative isolation.

As we know, there were losers. To start with, there were those unwilling
immigrants, the slaves who had been used as a source of cheap labor for the
tobacco plantations’ of the South. Nor should we forget the equally awful fate of the
American Indians. By 1860 there were 27 million free whites, four million slaves
and a mere 488,000 free blacks. (349ws)

1. What does “exodus” most probably mean in Para. 2?
A. Living a poor life in remote villages.
B. Leaving the motherland in great numbers.
C. Increasing the population in homeland.
D. Remaining peasants in Europe.
2. What does “being conscripted”(Para. 2) mean according to the context?
A. Being forced to leave home. B. Being involved in liberal revolution.



